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Ẑ)t,x(R klijklij � � � � � � � ����������#!!��04%�

�

:����
	� ���&�

�

( )
( ) ( )ij

el
ijij

el
ij

ij
el
ij

ij
YS:YS

2
1

YS

3
H

)t,x(y
−−

−
λ∆=∆ ���� � � � � ����������#!!��0$%�

�

���� ��	������	��
�����	� �������
�	����
��&�

�

�
�

�
�
�

� ∆�
�

�
�
�

� ∆=λ∆ )t,x(y
H2
3

:)t,x(y
H2
3

2 ijij � � � � � � ����������#!!��06%�

�
' �

�����
	� ��� ��
������ �
	�

�� )t,x(yij∆ �� ��� � ��	������	��
� ����	� ��� ��	� �
��  ��
	�	��

��

���� " � ���	�	� ��� �	��� ���� �����
�� ��	
�� ��� ���� ��
�� -	
��� �
	�

��� �	
��	�
���������
	�

�	
�������	�������
���	��
��#!!�6/%��	�#!!�0$%�&�

�

( )[ ] �
�

	


�

�
�
�

�
�
�

� ∆+∆
λ∆

σα+−= )x(S
H2
3
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5 paliers du chemin de contrainte 5,1p/q =∆∆  
5 paliers du chemin de contrainte 2p/q =∆∆   

Palier 1 Palier 2 Palier 3 Palier 4 Palier 5 
∆q/∆p=1 3,35 5,27 6,82 5,50 - 

∆q/∆p=1.5 7,96 7,67 5,49 9,38 8,41 
∆q/∆p=2 9,23 5,85 10,49 10,92 12,88 
∆q/∆p=3 1,31 7,07 2,07 - - 

 
5 paliers du chemin de contrainte 5,1p/q =∆∆  
4 paliers du chemin de contrainte 2p/q =∆∆   

Palier 1 Palier 2 Palier 3 Palier 4 Palier 5 
∆q/∆p=1 3,16 5,47 6,42 5,38 - 

∆q/∆p=1.5 8,86 6,80 5,81 7,90 9,78 
∆q/∆p=2 4,59 7,14 8,30 11,55 - 

∆q/∆p=3 1,33 6,97 3,16 - - 
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4 paliers du chemin de contrainte 5,1p/q =∆∆  
5 paliers du chemin de contrainte 2p/q =∆∆   

Palier 1 Palier 2 Palier 3 Palier 4 Palier 5 
∆q/∆p=1 3,16 5,47 6,42 5,38 - 

∆q/∆p=1.5 4,30 6,14 10,00 5,15 - 
∆q/∆p=2 5,21 8,36 7,11 12,64 12,33 
∆q/∆p=3 5,73 8,11 4,39 - - 
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